
Factoring in our Graphs

Draw a sketch of each graph using the propert ies of polynomial functrons. After you complete
each sketch, check with your partner,  discuss your strategies and make any correct ions needed

a)  f  ( x )=  ( x  -  4 ) ( x  +  3 ) b )  f  ( x )  = - ( x -1 )$+a ) ( x -%) c )  f  ( x )  -  ( 2x -1 ) ( x+1 )

d )  f ( x )  = f )  f  ( x )  =x ( x - + 1 X2x+3)

si i i-) =;tt*+f h)  f  ( x )  =  - ( x  +3 )( x -'1rl{

Answers for next page.
1 a) (x+b)(?-t + 1 )Qxl) b) -(x+7)t("-o) c; -x31x-41 d) -(x+3)21x- 4)2 e) (x+2.5)(x-3)3
1)  -  (x+4)( (x+2)(x+lXx-3)2(x- .1)  2a)  f (x) :11-  4)2(x+3)  b)  y :1x-2)31x-5)
c)  g(x)  :  (2x-  l ) (4x-3)(x+1 )  d)  y :  - (x- r2Xx-3)2 e)  f (x)  = - (x+10121x- l  O;2 4.y  :  -2(x+3)(x+1 Xx-2)
5  f i x ) : ( x+1 ) t ( * -2 ) ' . g (x )=a (x+1)2 (x -2 )2 ,answersmayvary  6 .A taze row i thoddorde r the func t i on
ciranges sign at the zero (order 1 it passes dilectly through the zero, order 3 rt inflects at the zero) and at
a zero with even order the function does not change sign fiust touches the x-axis creating a local max or
ni in.). The surn of the orders rs the degree of the polynomial
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